
3D-BerechnungsMethode - Info- IT - Controlling B

Zahl QuantenComputer
 
[ ] 987:21 Anzahl Felder 43 = 141 +3 => 144 F
13×21 =273+4 => 277 F
[ ] 987 Pos.13 Zurück 20 generier 1 NullKUGEL

[ ] 7x21=144 => -3 -7 generiert verschachtelung

165:21 = 7.857142857142857

[ ] 7.85714285714285(7.7)58241758241758.7 => 3x7 KugelZahl07 + 1 -1 = 21

[ ] 7.85714285714285(7.7)58241758241758.7 => 3x7 KugelZahl07 + 1 -1 = 21

[ ] 7.85714285714285(7.7)58241758241758.7 => 3x7 KugelZahl07 + 1 -1 = 21

[ ] 7.85714285714285(7.7)58241758241758.7 => 3x7 KugelZahl07 + 1 -1 = 21

[ ] 7.85714285714285(7.7)58241758241758.7 => 3x7 KugelZahl07 + 1 -1 = 21

[ ] 7.85714285714285(7.7)58241758241758.7 => 3x7 KugelZahl07 + 1 -1 = 21

[ ] 7.85714285714285(7.7)58241758241758.7 => 3x7 KugelZahl07 + 1 -1 = 21

= > 7X21  147 - 21 -21 =105



 


